MATHI141 QUIZ 8
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1. Use the integral test to show that the following series converges:
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Hint:You can show that f(z) = is decreasing on [2, co) by show-

1
z(lnz)?
ing, instead, that g(z) = z(lnz)? is increasing on [2,00). For this, you
need to show that ¢'(z) > 0.
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2. Show that the following series converges, using at least two different meth-
ods:
o0 2771

n
n=1 n

(Roel Texd
Lrn-\] L 7’“ l‘::"z"‘ﬁf)(\ -“,h Mo

W70 .
122V wv\‘méq
__V’_“Ll"'io T-U;_x__ Zw\\
O o s S (S )™ = U mt - .:i:
WEN Wroe 2 hoe (an)'t
“?
= \;”\ (‘AH ) N 1, = ’L‘-v\ 2 = = Zk'\—\ ‘_—_—:\—
W7o ) () A "'(b:: L) T ()
= b\"a (l.\-J—) ('\4’1‘ =0 thze L(’“:"\:: +\‘\&
=203 ('4’_‘1) =€ ¢

""\M\ Mo LA us\qur%t.



